Mat 1375 HW11

Exercise 11.1

Below are the graphs of rational functions whose numerators and denominators are polynomials of degree 2. All intercepts and asymptotes are at integer values, indicated in red. Find all intercepts and asymptotes, and find a formula for each function.



() X-intercepts: (2,0), (-3,0)
() y-intercept: (0,2)
() V.A. X=3, X=-2
() H.A. Y=2

Formula: $f(x) = \frac{P(x)}{P(x)}$, dog(p) = 2, dog(q) = 2giv: By 3. We know V.A. Occurs at roots of gex) since the ports of good are x=3 and x=-2, then q(x) = (x-3)(x+2)p(x): By D, We know $f(2) = \frac{P(2)}{q(2)} = 0$ and $f(-3) = \frac{P(-3)}{q(-3)} = 0$. Then P(2) = 0, P(-3) = 0 which means 2 and -3 are roots of pos ⇒ pox) has factors (x-2) and (x+3) Let $p(x) = C \cdot (x-2) (x+3)$ $f(x) = \frac{V(x)}{g(x)} = \frac{C(x-2)(x+3)}{(x-3)(x+2)}$. By (2), we know f'(0) = 2 $\Rightarrow 2 = f(0) = \frac{C(0-2)(0+3)}{(0-3)(0+2)} = \frac{C(-2)\cdot3}{(-3)\cdot2} = \frac{-6\cdot C}{-6} = C$ $\Rightarrow f(x) = \frac{2(x-z)(x+3)}{(x+3)(x+2)}$ (Also reclue it By (a), deg(p)=2=deg(p) then H.A. is $y = \frac{2x^2}{x^2} = 2$ V





() X-intercepts: $(1_{3}0).(-2_{3}0)$ (a) y-intercept $(0_{3}-2)$ (b) V.A X=-1, X=-3 (c) H.A. Y=3.

(5) ger): By (3). We know V.A. Occurs at roots of ger) Since the ports of good are x = -1 and x = -3, then q(x)= (x+1) (x+3) (b) pox): By (D), we know $f(1) = \frac{P(1)}{q(1)} = 0$ and $f(-2) = \frac{P(-2)}{q(-2)} = 0$. Then P(1)=0, P(-2)=0 which means 1 and -2 are roots of pox) ⇒ pox) has factors (×1) and (×+2) Lat p(x) = C(x-1)(x+2) $f(x) = \frac{p(x)}{q(x)} = \frac{C(x-1)(x+2)}{(x+1)(x+3)}$, By (2) We know f(0) = -2 $\Rightarrow -2 = f(0) = \frac{C \cdot (0 - 1) \cdot (0 + 2)}{(0 + 1) (0 + 3)} = \frac{C \cdot (-1) \cdot 2}{1 \cdot 3} = \frac{-2C}{3}$ $\Rightarrow -2 = \frac{3(X+1)(X+2)}{3} \Rightarrow C = 3 \Rightarrow f(X) = \frac{3(X+1)(X+2)}{(X+1)(X+3)}$ (Also check by (\oplus H.A.: dog (pos) = 2 = dog (geo)) \Rightarrow H.A is $y = \frac{3}{7} = 3$ /

Below are the graphs of rational functions whose numerators are polynomials of degree 1 and whose denominators are polynomials of degree 3. All intercepts and asymptotes are at integer values indicated in red. Find all intercepts and asymptotes, and find a formula for each function.



()X-interrept: (-2,0)

2 y - intercept: (0,2)



(5) gives: By (3). We know V.A. Occurs at roots of gives since the poits of good are x=6, x=1, and x=-2, then g(x)=(x-6)(x+1)(x+2)(6) point: By (D). We know $f(4) = \frac{P(4)}{g(4)} = 0$, then P(4) = 0 means 4 is a root of point $P(2) \Rightarrow P(2)$ has factor (x-4) Lest $P(x) = C \cdot (x-4)$ f(x-6)(x-1)(x+2) = P(2). By (B), we know f(-2) = [. $\Rightarrow [=f(-2)] = \frac{C(x-4)}{(x-6)(x-1)(x+2)} = \frac{(-4)C}{(-6)(x-1)(x+2)} = \frac{-4C}{12}$ $\Rightarrow 1 = -\frac{4C}{12} \Rightarrow c = -3 \Rightarrow f(x) = \frac{-3(x-4)}{(x-6)(x-1)(x+2)}$



(5) gives: By (3). We know V.A. occurs at roots of gives Since the poits of gives are X=4, X=4, and X=-1, then g(x) = (X-4)(X-4)(X+1)(6) points: By (D). We know $f(-4) = \frac{P(-4)}{g(+4)} = 0$, then P(-4) = 0 means -4 is a root of $P(x) \Rightarrow P(x)$ has factor (X+4)Let P(x) = C (X+4)(5) $f(x) = \frac{P(x)}{g(x)} = \frac{C(X+4)}{(X-4)(X+1)}$. By (3), we know f(x) = -4 $\Rightarrow -4 = f(x) = \frac{C(x+4)}{(x-4)(x+1)} = \frac{4C}{(-4)(x-1)(x+1)} = \frac{4C}{4} = C$ $\Rightarrow C = -4$, Then $f(x) = \frac{-4(x+4)}{(x-4)(x-1)(x+1)}$

Exercise 11.3

Find the domain of each rational function below. Identify the removable discontinuities and find their x- and y-coordinates.

$$\begin{aligned} & \forall_{a} \ f(x) = \frac{(x-3)(x-4)}{(x+5)(x-4)} & \forall_{b} \ f(x) = \frac{3(x+2)(x-5)}{(x+3)(x-5)} \\ & \forall_{c} \ f(x) = \frac{7(x-2)}{(x+3)(x-2)(x-6)} & \forall_{d} \ f(x) = \frac{x^{2}+6x+8}{x^{2}+x-12} \end{aligned}$$
Sol: (a) for = $\frac{7(x-2)}{(x+3)(x-2)(x-6)} & \forall_{d} \ f(x) = \frac{x^{2}+6x+8}{x^{2}+x-12} \end{aligned}$
Sol: (a) for = $\frac{(x+3)}{(x+3)(x+2)} \underbrace{(x+4)}{(x+5)} \underbrace{(x+4)}{(x+5)} = \underbrace{(x+3)}{(x+5)} \underbrace{(x+4)}{(x+5)} = \underbrace{(x+3)}{(x+5)} \underbrace{(x+4)}{(x+5)} = \underbrace{(x+3)}{(x+5)} = \underbrace{(x+3)}{(x+5)}$

d)
$$fog = \frac{\chi^2 + 6\chi + 8}{\chi^2 + \chi - 12} = \frac{(\chi + 2)(\chi + 4)}{(\chi - 3)(\chi + 4)}$$

Domain: All real numbers but $\chi = -3$, $\chi = -4$,
 $\Rightarrow \chi \in (-\infty, -4) \cup (-4, -3) \cup (-3, \infty)$
Removable discontinuity: $\chi + 4 = 0 \Rightarrow \chi = -4$ for $fox = \frac{\chi + 2}{\chi - 3}$
 $\Rightarrow f(-4) = \frac{-4 + 2}{-4 + 3} = \frac{-2}{-7} = \frac{2}{7} \Rightarrow \text{removable point is } (4, \frac{2}{7})$

Exercise 11.4

Find the slant asymptote of the rational function.

$$V_{a}(x) = \frac{2x^{3} + 9x^{2} - 20x - 21}{2x^{2} - 3x - 4} \quad b) f(x) = \frac{2x^{3} - 13x^{2} + 35x - 26}{x^{2} - 4x + 6}$$

$$S_{b}(x) = 2x^{3} + 9x^{2} - 3x - 4, \quad f(x) = \frac{f(x)}{x^{2} - 4x + 6}$$

$$S_{b}(x) = 2x^{3} + 9x^{2} - 3x - 4, \quad f(x) = \frac{f(x)}{g(x)}$$

$$S_{b}(x) = g(x) \cdot g(x) + f(x). \qquad x + 6$$

$$S_{b}(x) = g(x) \cdot g(x) + f(x). \qquad x + 6$$

$$S_{b}(x) = g(x) \cdot g(x) + f(x). \qquad x + 6$$

$$S_{b}(x) = g(x) \cdot g(x) + f(x). \qquad x + 6$$

$$S_{b}(x) = g(x) \cdot g(x) + f(x). \qquad x + 6$$

$$S_{b}(x) = g(x) \cdot g(x) + f(x). \qquad x + 6$$

$$S_{b}(x) = g(x) \cdot g(x) + f(x). \qquad x + 6$$

$$S_{b}(x) = g(x) \cdot g(x) + 2x + 3$$

$$S_{b}(x) = g(x) \cdot (x + 6) + 2x + 3$$

$$S_{b}(x) = \frac{f(x)}{g(x)} = \frac{g(x) \cdot (x + 6) + 2x + 3}{g(x)} = \frac{f(x)}{2x^{2}} = 6$$

$$S_{b}(x) = \frac{f(x)}{g(x)} = \frac{g(x) \cdot (x + 6) + 2x + 3}{2x^{2}} = 6$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2}} = 6$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2}} = 6$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2}} = 6$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2}} = 6$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{2x + 3}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{f(x)}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{f(x)}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{f(x)}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{g(x)} + \frac{f(x)}{2x^{2} - 3x - 4}$$

$$S_{b}(x) = \frac{f(x)}{2x^{2} - 3x^{2} - 3}$$

$$S_{b}(x) = \frac{f(x)}{2x^{2} - 3}$$

$$S_{b}($$